Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
402 = 4 +
1225 = 12 +
736 = 7 +
812 = 8 +
25 = 2 +
4557 = 45 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05

203,256 = 203 +

8805 = 8 +
14 = 1 +
21 = 2 +
45875 = 45 +
5605 = 5 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
665 = 6 +
32,055 = 32 +
1203 = 12 +
907 = 9 +
443 = 4 +

176 = 17 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
262 = 26 +
4555 = 45 +
8063 = 8 +
2052 = 205 +
179 = 17 +
27,26 = 27 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
1456 = 145 +
29,7 = 29 +
405 = 4 +
2407 = 24 +
98 = 9 +
5456 = 54 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
866 = 8 +
4753 = 47 +
1975 = 197 +
17,08 = 17 +
54789 = 547 +
6235 = 623 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
58,9 = 58 +
68,3 = 68 +
48,35 = 48 +
907 = 9 +
7,7 = 7 +
25 = 2 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
285 = 2 +
86,36 = 86 +
86 = 8 +
4703 = 47 +
508,58 = 508 +

66,6 = 66 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
208 = 2 +
807 = 8 +
785 = 7 +
1304 = 2130 +
/78 = 7 +
18,06 = 18 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05

802 = 8 +

928 = 9 +

24558 = 245 +

378 = 37 +

643 = 64 +

3044

304 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
725 = 7 +
406 = 4 +
143 = 14 +
208 = 2 +
255 = 25 +
126 = 1 +




Les hombres décimaux

Complete comme dans I'exemple.

35 = 3 + 05
236 = 2 +
65 = 6 +
1207 = 12 +
735 = 7 +
145 = 1 +
1856 = 1 +




